
 

1. Expand and simplify: 

 

a. 7𝑎ଶ − 2(3𝑎 − 4) + 3𝑎(5 − 2𝑎) 
b. 3(4𝑎 − 1)ଶ − (2𝑎 + 1)(4𝑎 − 3) 
c. (𝑎 − 2)(2𝑎 + 3𝑏 − 5) 

 

2. Simplify and state the restrictions: 

 

a. ିହସ௔య௕మ௖ఱ

ଶ଻௔௕ర௖య
 

b. ௔మି௔ିଵଶ

௔మିସ௔
 

 

3. Factor fully: 

 

a. 5𝑎ଶ𝑏ଷ − 20𝑎ଷ𝑏ସ 
b. 𝑎ଶ − 7𝑎 + 12 
c. 9𝑎ଶ − 25𝑏ଶ 
d. (𝑎 + 2)ଶ − 49𝑏ଶ 
e. 8𝑎ଶ − 10𝑎 − 7 
f. 4𝑎ଶ − 4𝑎 + 1 − 9𝑏ଶ 
g. 7𝑎ଶ − 28𝑎 − 35 
h. 𝑎𝑥 − 𝑎𝑦 − 𝑏𝑥 + 𝑏𝑦 
i. 4𝑎ଷ − 8𝑎ଶ − 25𝑎 + 50 
j. 𝑎ଶ + 2𝑎 + 1 − 𝑥ଶ − 2𝑥𝑦 − 𝑦ଶ 

 

 

 

 

 

4. Simplify (restrictions not required): 

a. ସ௔మି଼௔

௔మିହ௔ା଺
×

௔ିଷ

௔మିଽ
 

b. ଼௫௬

௫మିସ
÷

ଵ଺௫మ

ଷ௫ି଺
 

c. ଺௔మାଵଷ௔ିହ

ଶ௔మାଷ௔ିହ
×

ସ௔మିସ

ଽ௔మିଵ
 

d. ହ௫

ସ
+

ଷ

ହ௫
− 1 

e. ଷ

௫ିସ
−

଻

௫ାଷ
 

f. ହ௔ାଵ

௔మିସ
+

ସ௔

௔మାହ௔ା଺
 


